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1. In Shivaji's Council of Ministers the Prime

Minister was called?
(a) Peshwa (b) Sachiv
(c) Mantri (d) Samant

2. Which one of the following is used seen glasses?
(a) Pyrex glass (b) Flint glass
(c) Crook glass (d) Crystal glass

3. Which Dehli sultan resorted to price control and
rationing?
(a) Bahlol lodi
(b) Allaudin khilji
(c) Mohammad-bin-Tughlag
(d) Balban

4. In the presidential system of government, the
president is
(a) Head of the State
(b) Head of the Government
(c) Head of the Executive
(d) Head of the State and Head of the

Government
5. Market Gardening comes in which category?

(a) Subsistance farming
(b) Monoculture
(c) Horticulture
(d) Sericulture

6. World "No Tobacco Day" was observed globally as?
(a) 31 May (b) 15 June
(c) 2 June (d) 20 June

7. Which one of the following is first multipurpose
project constructed in india?
(a) Tungabadra (b) Rihand
(c) Farraka Barrage (d) Damodar

8. When was the first all India Postage Stamp
issued?
(a) 1856 (b) 1854
(c) 1850 (d) 1858

9. Who among the following Gupta Emperor was
know as "Vikramaditya"?
(a) Kumara Gupta (b) Chandra Gupta-I
(c) Chandra Gupta-II (d) Samudra Gupta

1. f'kokth ds eaf=ifj"kn esa iz/kkuea=h dks D;k dgk tkrk Fkk\

(a) is'kok (b) lfpo

(c) ea=h (d) lkear

2. fuEufyf[kr esa ls fdls /kwi ds p'esa ds fy, mi;ksx
fd;k tkrk gS\

(a) ikbjsDl dk¡p (b) f¶yaV dk¡p

(c) Øqd dk¡p (d) fØLVy dk¡p

3. fnYyh ds fdl lqYrku us dher fu;U=.k vkSj jk'ku
O;oLFkk vkjEHk fd;k Fkk\

(a) cgyksy yksnh

(b) vykmÌhu f[kyth

(c) eksgEen fcu rqxyd

(d) cyou

4. ljdkj dh v/;{kh; iz.kkyh esa jk"Vªifr gksrk gS&

(a) jkT; dk v/;{k

(b) ljdkj dk v/;{k

(c) dk;Zikfydk dk v/;{k

(d) jkT; dk v/;{k vkSj ljdkj dk v/;{k

5. cktkj ckxokuh fdl Js.kh esa vkrh gS\

(a) thfodk [ksrh

(b) ,dy —f"k

(c) m|ku —f"k

(d) js'ke dhVikyu

6. fo'o esa ^^rEckdw jfgr fnol** dc euk;k tkrk gS\

(a) 31 ebZ (b) 15 twu

(c) 2 twu (d) 20 twu

7. fuEufyf[kr esa ls dkSu&lh igyh cgqmÌs'kh; ifj;kstuk
dk fuekZ.k Hkkjr esa fd;k x;k\

(a) rqaxHknzk (b) fjgan

(c) QjDdk cSjst (d) nkeksnj

8. igyk vf[ky Hkkjrh; Mkd&fVdV dc tkjh fd;k
x;k Fkk\

(a) 1856 (b) 1854

(c) 1850 (d) 1858

9. fuEufyf[kr esa ls dkSulk xqIr lezkV ̂^foØekfnR;** uke
ls tkuk tkrk gSA

(a) dqekj xqIr (b) pUnz xqIr&I
(c) pUnzxqIr&II (d) leqnz xqIr
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10. The Election Commission of India is?

(a) Quasi-legislative body

(b) Executive body

(c) Quasi Judicial body

(d) An Independent body

11. Match List-I with list-II and select the correct
answer using the codes given below the lists.

List-I List-II
A. Dhobie itch 1. Virus

B. Malaria 2. Bacteria

C. Pheumonia 3. Fungi

D. Mumps 4. Worms

Codes: A B C D
(a) 4 1 3 2

(b) 4 3 2 1

(c) 3 2 4 1

(d) 3 1 4 2

12. Which of the following atmospheric gases are
responsible for green house effect?

1. Carbon dioxide

2. Methane

3. Oxygen

4. Nitrogen

Select the correct answer the codes given
bleow

(a) 1 and 2 (b) 2 and 3

(c) 1 and 3 (d) 2 and 4

13. The 12th five year plan of India mainly Focuses
on

(a) Accelerating Industrial Growth

(b) Increasing rate of Investment

(c) Accelerating Employment Growth

(d) Faster, Sustainable and More Inclusive Growth

14. What is the symbol of world wild life fund
(WWF)?

(a) Bear (b) White Tiger

(c) Red Panda (d) Rhododendron

10. Hkkjr dk fuokZpu vk;ksx\

(a) v/kZ fo/kk;h fudk; gS

(b) dk;Z ikyd fudk; gS

(c) v/kZ U;kf;d fudk; gS

(d) ,d Lora= fudk; gS

11. lwph&I dks lwph&II ls lqEesfyr dhft;s rFkk lwfp;ksa ds
uhps fn;s x;s dwVksa dk mi;ksx djrs gq, lgh mÙkj dk
p;u dhft;s\

lwph-I lwph-II
A. /kksch bp 1 - fo"kk.kq

B. eysfj;k 2 - thok.kq

C. U;weksfu;k 3 - dod

D. eEi~l 4 - —fe

dwV % A B C D
(a) 4 1 3 2
(b) 4 3 2 1
(c) 3 2 4 1
(d) 3 1 4 2

12. fuEufyf[kr esa ls dkSu&lh ok;qe.Myh; xSals gfjr xg̀
izHkko gsrq mÙkjnk;h gS\

1. dkcZu MkbvkWDlkbM

2. ehFksu

3. vkWDlhtu

4. ukbVªkstu

fn;s x, dwVksa dk mi;ksx djrs gq, lgh mÙkj dk p;u
dhft;s

(a) 1 vkSj 2 (b) 2 vkSj 3

(c) 1 vkSj 3 (d) 2 vkSj 4

13. Hkkjr dh ckjgoha iapo"khZ; ;kstuk dk eq[; mÌs';
gS\

(a) vkS|ksfxd fodkl dks xfr iznku djuk

(b) fuos'k dh nj dks rst djuk

(c) jkstxkj of̀) dks rst djuk

(d) T;knk rst /kkj.k;h rFkk lekos'kh laof̀)

14. fo'o oU; thou fuf/k (WWF) dk izrhd fpUg D;k gS\

(a) Hkkyw (b) 'osr ck?k

(c) yky iaMk (d) cqa#p dk Qwy
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15. Disguised unemployment means?

(a) Not working whole day
(b) Production is less
(c) Marginal Productivity is zero
(d) Working as self-employed

16. The Chief Election Commissioner of India is
appointed by
(a) Chief Justice of India
(b) Prime Minister
(c) Parliament
(d) President

17. Match List-I with List-II and select the correct
answer using codes given below the lists.

List-I List-II
A. Areometer 1. Measurement of altiude
B. Ammeter 2. Measurement of engine

speed
C. Anemometer 3. Measurement of electric

current
D. Altimeter 4. Measurement of wind

speed
5. Measurement of air/gas

density/weight.
Codes: A B C D

(a) 3 2 4 1
(b) 3 1 4 2
(c) 2 3 4 1
(d) 1 4 3 2

18. In a LAN Network every system is identified by
(a) Name
(b) MAC Address
(c) IP Address
(d) Serial Number given by manufacture

19. Identify the incorrect pair middle tier of
panchayati Raj institution and the concerned state?
(a) Khsetra samite – Uttar Pradesh
(b) Panchayat Union councial – Tamil Nadu
(c) Taluka Panchayat – Gujrat
(d) Panchayat Samite – Madhya Pradesh

15. izPNUu csjkstxkjh dk vFkZ D;k gS\

(a) iwjs fnu dk;Z u djuk

(b) mRiknu de gksuk

(c) lhekar mRikndrk 'kwU; gksuk

(d) Lo&jkstxkj ds :i esa dk;Z djuk

16. Hkkjr ds eq[; fuokZpu vk;qDr dh fu;qfDr fdlds }kjk
dh tkrh gS\

(a) Hkkjr ds eq[; U;k;k/kh'k

(b) iz/kkuea=h

(c) laln

(d) jk"Vªifr

17. lwph&I dks lwph&II ls lqEesfyr dhft, rFkk lwfp;ksa ds
uhps fn;s x;s dwVksas dk mi;ksx djrs gq, lgh mÙkj dk
p;u dhft;sA

lwph-I lwph-II

A. ,sjksehVj 1 - Å¡pkbZ ekiu

B. vehVj 2 - bZatu xfr ekiu

C. ,uheksehVj 3 - fo|qr /kkjk ekiu

D. vkYVhehVj 4 - iou osx ekiu

5 - ok;q@xSl ?kuRo@Hkkj ekiu

dwV : A B C D
(a) 3 2 4 1
(b) 3 1 4 2
(c) 2 3 4 1

(d) 1 4 3 2

18. LAN usVodZ esa izR;sd flLVe dh igpku gksrh gS&

(a) uke }kjk

(b) MAC ,Mªsl }kjk

(c) IP ,Mªsl }kjk

(d) fuekZrk }kjk nh xbZ Øe la[;k ls

19. iapk;rh jkt laLFkkvksa ds e/;orhZ Lrj ,oa lacaf/kr
jkT; ds =qfViw.kZ ;qXe dks igpkfu,\

(a) {ks= lfefr & mÙkj izns'k

(b) iapk;r la?k ifj"kn & rfeyukMq

(c) rkyqdk iapk;r & xqtjkr

(d) iapk;r lfefr & e/; izns'k
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20. After the enactment by parliament of india, the Date
of commencement of "Right to Information Act"?
(a) 15 June, 2005
(b) 22 June, 2005
(c) 2 October, 2005
(d) 12 October, 2005

21. According to Human Development Report 2016,
India's rank in human development India is?
(a) 130 (b) 134
(c) 136 (d) 139

22. Match the following and select the correct answer
using the code given below

List-I List-II
(Iron-Deposit) (State)

A. Mayurbhani 1. Karnataka
B. Kundermukh Deposits 2. Orissa
C. Bailadila 3. Jharkhand
D. Bonai Range 4. Chhattisgarh

Codes: A B C D
(a) 3 4 2 1
(b) 4 3 1 2
(c) 2 1 4 3
(d) 1 2 3 4

23. Where Kajiranga National Park is located?
(a) Tamilnadu (b) Orissa
(c) Rajasthan (d) Assam

24. Mudumalai Sanctuary is famous for?
(a) Tigers (b) Bisons
(c) Elephants (d) Birds

25. Based on the new appointment of governor match
the correct answer-
A. Manipur 1. Najma Heptulla
B. Punjab 2. V.P. Singh
C. Assam 3. Jagdish Mukhi
D. Andman Nicobar 4. Banwari lal Purohit

Island
Codes: A B C D

(a) 1 2 4 3
(b) 2 1 3 4
(c) 1 3 4 2
(d) 1 2 3 4

20. Hkkjr dh laln }kjk vf/kfu;e fd, tkus ds ckn
^^lwpuk dk vf/kdkj vf/kfu;e** dk 'kqHkkjEHk gqvk\

(a) 15 twu] 2005 dks

(b) 22 twu] 2005 dks
(c) 2 vDVwcj] 2005 dks

(d) 12 vDVwcj] 2005 dks

21. ekuo fodkl fjiksVZ 2016 ds vuqlkj] ekuo fodkl
lwpdkad esa Hkkjr dk Øe gS\

(a) 130 (b) 134

(c) 136 (d) 139

22. fuEufyf[kr dks lqEesfyr dhft, vkSj uhps fn, x, dwV
dk mi;ksx djrs gq, mÙkj nhft,&

lwph-I lwph-II
¼ykSg&v;Ld teko½ ¼jkT;½
A. e;wjHkat 1 - dukZVd

B. dqUnszeq[k teko 2 - mM+hlk

C. cSykfMyk 3 - >kj[k.M+
D. cksukbZ Js.kh 4 - NÙkhlx<+

dwV : A B C D
(a) 3 4 2 1
(b) 4 3 1 2
(c) 2 1 4 3
(d) 1 2 3 4

23. dkthjaxk jk"Vªh; m|ku dgk¡ fLFkr gS\
(a) rfeyukMq (b) mM+hlk

(c) jktLFkku (d) vle

24. eqnqeykbZ vHk;kj.; izfl) gS\

(a) ck?k (b) taxyh HkSlk

(c) gkFkh (d) i{kh

25. u;s jkT;iky in ij fu;qDr fd;s x;s gS\ lgh mÙkj dks
lqEesfyr dhft,\

A - ef.kiqj 1. utek gsirqYyk

B - iatkc 2. oh- ih- flag

C - vle 3. txnh'k eq[kh

D - v.Meku fudksckj 4. cuokjh yky iqjksfgr

vkblySa.M
dwV % A B C D

(a) 1 2 4 3
(b) 2 1 3 4
(c) 1 3 4 2
(d) 1 2 3 4
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26. Who had propounded the dynamical theory of

origin of ocean tides?
(a) Harris (b) Airy
(c) Whewell (d) Laplace

27. The short radio waves are reflected from which
of the Ionospheric layer?
(a) D–Layer (b) E–Layer
(c) F–Layer (d) G–Layer

28. The portion of solar radiation energy reflected
back from the surface of object is called?
(a) Absorption (b) Scattering
(c) Diffusion (d) Albedo

29. Which country was the first to launch artificial
satellite?
(a) USA (b) Russia
(c) China (d) Germany

30. Nanotechnology is related to-
(a) Atomic Engineering
(b) Carbon Engineering
(c) Microbiology
(d) Microphysics

31. What is the theme of the 2016 world
Humanitarian Day?
(a) Share Humanity
(b) One Humanity
(c) People Helping People
(d) Insprie the World's Humanity

32. Swez canal joins-
(a) Persian Gulf and Arabian Sea
(b) Red Sea and Mediterranean Sea
(c) Mediterranean Sea and Black Sea
(d) Red Sea and Arabian Sea

33. The longest river of Europe is–
(a) Rhine (b) Rhone
(c) Danube (d) Volga

34. The first women president of India National
Congress was-
(a) Kamla Devi Chattopdhyaya
(b) Sarojini Naidu
(c) Annie Besant
(d) Rajkumari Amrit Kaur

26. TokjHkkVk dh mRifÙk lEcU/kh xfrd fl)kUr fdlus
izfrikfnr fd;k\

(a) gSfjl (b) ,;jh

(c) ososy (d) ykIykl

27. vk;ue.My dh fdl ijr ls jsfM+;ksa dh y?kq rjaxs
ijkofrZr gksrh gS\

(a) Mh&ijr (b) bZ&ijr

(c) ,Q&ijr (d) th&ijr

28. fdlh oLrq dh lrg ij igq¡pus okys fofdj.k ÅtkZ dk
ftruk Hkkx ijkorZu gksrk gS] dgykrk gS\

(a) vo'kks"k.k (b) izdh.kZu

(c) folj.k (d) /koyrk

29. Øf=e mixzg iz{ksi.k djus okyk izFke ns'k dkSu Fkk\

(a) ;w-,l-,- (b) :l

(c) phu (d) teZuh

30. uSuksVsDuksykWth ¼vfrlw{e rjuhdh½ lEcfU/kr gS&

(a) ijek.kq ¼,Vksfed½ vfHk;kaf=dh

(b) dkcZu vfHk;kaf=dh ls

(c) lw{ethofoKku ls

(d) lw{e&HkkSfrdh ls

31. 2016 fo'o ekuoh; fnol dk fo"k; D;k gS\

(a) ekuork ds lk>k

(b) ,d ekuork

(c) yksxksa dks yksxksa dh enn djus

(d) fo'o ekuork ls izsfjr

32. Qkjl dh [kkM+h vkSj vjc lkxj

(a) Qkjl dh [kkM+h vkSj vjc lkxj

(b) yky lkxj vkSj Hkwe/; lkxj

(c) Hkwe/;lkxj vkSj dkyk lkxj

(d) yky lkxj vkSj vjc lkxj

33. ;wjksi dh lcls yEch unh gS&

(a) jkbu (b) jksu

(c) MsU;wc (d) oksYxk

34. Hkkjrh; jk"Vªh; dk¡xzsl dh igyh efgyk v/;{k Fkh\

(a) deyk nsoh pV~Vksi/;k;

(b) ljkstuh uk;Mw

(c) ,uh fclsUV

(d) jktdqekjh vèr dkSj
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35. Who betrayed Siraj-Ud-Daula in the Battle of
plassey in 1757?

(a) Hyder Ali (b) Mir Qasim

(c) Mir Jaffar (d) Nawab of Awadh

36. Who among the following has written the famous
book 'malgudi Days' ?

(a) V. S. Naipaul

(b) Deepak Chopra

(c) Rabindranath Tagore

(d) R. K. Narayan

37. Jaziya was reimaposed during the reign of –

(a) Akbar (b) Aurangzeb

(c) Jahagir (d) Humayan

38. The upanishads were translated into persian Dara
Shikhoh were the title?

(a) Al–Fihrist

(b) Kitab–Ul–Bayan

(c) Majm–Ul–Bahrain

(d) Sirr–I–Akbar

39. Gandhiji Launched the Non–Co–Operation
Movement in–

(a) 1920 (b) 1919

(c) 1921 (d) 1922

40. Dyarchy was first introduced in India under–

(a) Government of India Act, 1935

(b) Morley – Minto Reforms

(c) Mont – Ford Reforms

(d) Simon Commission Plan

41. In which year fundamental duties fo citizens were
Introduced by 42nd Amendment?

(a) 1975 (b) 1976

(c) 1977 (d) 1980

42. In India, agriculture income is calculated by

(a) Output method

(b) Input method

(c) Expenditure Method

(d) Commodity flow method

35. 1757bZ- esa Iyklh dh yM+kbZ esa fljkt&mn&nkSyk dks
fdlus /kks[kk fn;k Fkk\

(a) gSnjvyh (b) ehjdkfle

(c) ehjtkQj (d) vo/k dk uokc

36. fuEufyf[kr esa ls dkSuls izfl) ys[kd us ^^ekyxqM+h
Mst** iqLrd fy[kh gS\

(a) oh- ,l- uk;iky

(b) nhid pkSiM+k

(c) jfoUnzukFk VSxksj

(d) vkj- ds- ukjk;.k

37. ^^tkft;k** fdl 'kkld ds nkSjku iqu% ykxw fd;k x;k Fkk&

(a) vdcj (b) vkSajxtsc

(c) tgk¡xhj (d) áwek;w¡

38. mifu"kn~ dk Qkjlh esa vuqokn fd;k x;k ftlds 'kh"kZd
nkjkf'kdksg Fks\

(a) vy&fQgjhLr

(b) fdrkc&my&c;ku

(c) ete&my&cgjhu

(d) flj&bZ&vdcj

39. xk¡/khth }kjk vlg;ksx vkUnksyu izkjEHk fd;k x;k
FkkA

(a) 1920 (b) 1919

(c) 1921 (d) 1922

40. }S/k 'kklu Hkkjr esa igyh ckj fdlds vUrxZr is'k fd;k
x;k Fkk\

(a) Hkkjr 'kklu vf/kfu;e 1935

(b) ekysZ & feUVks lq/kkj

(c) ekUVsD;w & psEl QksMZ lq/kkj

(d) lkbeu deh'ku ;kstuk

41. 42osa la'kks/ku }kjk ukxfjdksa dks ekSfyd dÙkZO; dks dc
ifjfpr djk;k x;k Fkk\

(a) 1975 (b) 1976

(c) 1977 (d) 1980

42. Hkkjr esa] —f"kxr vk; dh x.kuk dh tkrh gS&

(a) mRiknu fof/k

(b) vk; fof/k

(c) O;; fof/k

(d) oLrq izokg fof/k



ENGINEERS ACADEMY

Email : info @ engineersacademy.org
Website : www.engineersacademy.org

# 100-102, Ram Nagar, Bambala Puliya
Pratap Nagar, Tonk Road, Jaipur-33
Ph.: 0141-6540911, +91-8094441777

EE : Full Length JEn : Mock Test Paper | 7
43. NABARD was established in the

(a) Fourth five year plan
(b) Fifth five year plan
(c) Sixth five year plane
(d) Eigth five year plan

44. Which place is called as 'Silicon Valley" of India?
(a) Delhi (b) Puna
(c) Bengaluru (d) Hyderabad

45. TISCO plant is located near?
(a) Patna (b) Darbhanga
(c) Dhanbad (d) Tatanagar

46. Match the List–I with List–II and select the
correct answer using the codes given below

List-I List-II
(Vitamine) (Chemical Compound)

A. Vitamin A 1. Thaimin
B. Vitamin B1 2. Retinol
C. Vitamin C 3. Ascorbic Acid
D. Vitamin E 4. Tocopherol

Codes: A B C D
(a) 4 1 3 2
(b) 2 3 1 4
(c) 4 3 1 2
(d) 2 1 3 4

47. If father have blood group 'A' and mother have
blood group 'O' which one of following blood
group may present in their son?
(a) B (b) AB
(c) O (d) B, AB & O

48. Match List-I with List-II and select the correct
answer using the code given below–

List-I List-II
(Deseases) (Organism)

A. Malaria 1. Fungi
B. Polimyclitis 2. Macteria
C. Tuberculosis 3. Virus
D. Ring Worm 4. Protozoa

Codes: A B C D
(a) 4 3 2 1
(b) 4 3 1 2
(c) 3 4 1 2
(d) 3 4 2 1

43. ukckMZ dh LFkkiuk dh x;h Fkh
(a) prqFkZ iapo"khZ; ;kstuk
(b) ik¡poh iapo"khZ; ;kstuk
(c) NBh iapo"khZ; ;kstuk
(d) vkBoh iapo"khZ; ;kstuk

44. Hkkjr esa dkSulk LFkku dks ̂ ^lhfydkWu ?kkVh** dgrs gS\
(a) fnYyh (b) iwuk
(c) caxykSj (d) gSnjkckn

45. VhLdks dkj[kkuk vofLFkr gS\
(a) iVuk (b) njHkaxk
(c) /kuckn (d) VkVkuxj

46. lgh dwV dk iz;ksx djrs gq, lwph&I dks lwph&II ds
lkFk lqEesfyr dhft,

lwph-I lwph-II
¼foVkfeu½ ¼jklk;fud ?kVd½

A. foVkfeu A 1 - Fkk;feu
B. foVkfeu B1 2 - jsVhuky
C. foVkfeu C 3 - ,LdkfcZd ,lhM+
D. foVkfeu E 4 - VsdksQsjksy

dwV % A B C D
(a) 4 1 3 2
(b) 2 3 1 4
(c) 4 3 1 2
(d) 2 1 3 4

47. ;fn firk dk jDr lewg 'A' vkSj ekrk dk jDr lewg 'O'
gS rks fuEufyf[kr esa ls dkSulk jDr lewg buds iq= esa
mifLFkr gksxk\
(a) B (b) AB
(c) O (d) B, AB & O

48. lgh dwV dk iz;ksx djrs gq, lwph&I dks lwph&II ds
lkFk lqEesfyr dhft,&

lwph-I lwph-II
¼chekjh½ ¼tho½

A. eysfj;k 1 - dod
B. iksfy;kse;syhVhl 2 - thok.kq
C. Vh-ch- 3 - fo"kk.kq
D. nkn 4 - izksVkstksvk

dwV % A B C D
(a) 4 3 2 1
(b) 4 3 1 2
(c) 3 4 1 2
(d) 3 4 2 1
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49. Virus of bird flue is also known as-
(a) NH51 (b) NH15
(c) H1N1 (d) H5N1

50. Match the following
List-I List-II
(River) (Ocean/Sea)

A. Murray River 1. Arabian Sea
B. Congo River 2. Indian Ocean
C. Nile River 3. Mediteranean Sea
D. Indus River 4. Atlantic Ocean

Codes: A B C D
(a) 4 2 1 3
(b) 2 4 3 1
(c) 2 4 1 3
(d) 2 3 4 1

Direction : 51 & 52
Find the missing number from the given responses.

51.

51 41 37
6 4 ?
3 5 2
8 9 7

(a) 4 (b) 5
(c) 6 (d) 7

52. 15 

?

9

12

20

29
7 25

(a) 14 (b) 18
(c) 16 (d) 17

53. In a row of 20 students Sohan is third to the left
of Ram who is fourth from the right end after
moving five place towards right. What is Ram’s
initial position from the left end ?
(a) 11th (b) 12th
(c) 9th (d) Cannot be determined

54. Ali is 42 and his son’s age is 10. In how many
years will Ali’s age be twice the age of his son?
(a) 12 (b) 22
(c) 32 (d) 42

49. cMZ ¶yw ds ok;jl dks fdl uke ls tkuk tkrk gS&

(a) NH51 (b) NH15

(c) H1N1 (d) H5N1

50. fuEufyf[kr dks lfEefyr dhft,

lwph-I lwph-II

¼unh½ ¼egklkxj@lkxj½

A. ejsZ unh 1 - vjc lkxj

B. dkaxks unh 2 - fgUn egklkdj

C. uhy unh 3 - Hkwe/; lkxj

D. flU/kq unh 4 - vVykafVd egklkxj

dwV % A B C D
(a) 4 2 1 3
(b) 2 4 3 1
(c) 2 4 1 3
(d) 2 3 4 1

funsZ’k : 51 o 52
fn;s x;s fodYiksa esa ls yqIr vad Kkr dhft,A

51.

51 41 37
6 4 ?
3 5 2
8 9 7

(a) 4 (b) 5
(c) 6 (d) 7

52. 15 

?

9

12

20

29
7 25

(a) 14 (b) 18
(c) 16 (d) 17

53. 20 fo|kfFkZ;kas dh iafDr esa lksgu] jke ds ck;sa rhljk gS
tks nk;sa vkSj ikap LFkku LFkkukUrfjr gksus ds ckn nk;sa
Nksj ls pkSFkk gSA jke dh ck;sa Nksj izkjfEHkd fLFkfr
D;k gS \
(a) 11 oka (b) 12 oka
(c) 9 oka (d) r; ugha dj ldrs gS

54. vyh dh vk;q 42 o"kZ rFkk mlds iq= dh vk;q 10 o"kZ gSA
fdrus o"kksZ ds le; esa vyh dh vk;q mls iq= dh vk;q
dh nksxquh gksxh \
(a) 12 (b) 22
(c) 32 (d) 42
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55. From the given alternative words select the word

which can be formed using the letters of the
given word
EXCRUCLATING
(a) CIRCLE (b) EXCLAIM
(c) EXCURSION (d) EXECUTE

56. How many times, are the hands of a clock are
in straight line between 9 am to 9 pm in a day?
(a) 12 times (b) 11 times
(c) 24 times (d) 22 times

57. The calender for the year 2007 will be the same
for the year?
(a) 2013 (b) 2012
(c) 2017 (d) 2018

58. If A is 15th from the left end and B is 13th from
the right end if there are 12 persons in between
them then, what is the total number of person in
the row?
(a) 14 (b) 40
(c) 12 (d) Cannot be determine

59. If × = –,  = +, + = , and – = × which of the
following is the correct equation ?
(a) 3 – 5  6 × 8 + 2 = 19
(b) 4 – 5  7 × 16 + 2 = 19
(c) 18 + 6  10 × 1 – 2 = 17
(d) 20 × 16 + 2 – 3  4 = 2

60. Which of the following interchange of signs
would make the equation correct ?
8 × 6 + 2 = 22
(a) +, ×, 2 and 6 (b) +, ×, 6 and 8
(c) +, ×, 2 and 8 (d) +, ×, 2 and 22

Directions : 61 to 66
In each of the following questions. Select the related
letter / word / number from the give alternatives.
61. 2764 : 3763 :: ? : 5443

(a) 2536 (b) 2356
(c) 2563 (d) 5236

62. BVSC : YEHX :: MRCP : ?
(a) NJXK (b) LKXM
(c) NIXK (d) OIYM

63. EGIK : FILO :: FHJL : ?
(a) GJMP (b) GMJP
(c) JGMP (d) JGPM

55. fuEufyf[kr fodYiksa esa ls og 'kCn pqfu, tks fn, x,
'kCn ds v{kjksa dk iz;ksx djds cuk;k tk ldrk gS&
EXCRUCLATING
(a) CIRCLE (b) EXCLAIM
(c) EXCURSION (d) EXECUTE

56. lqcg 9 cts ls 'kke 9 cts rd ?kM+h fdruh ckj ljy
js[kk cukrh gS\

(a) 12 ckj (b) 11 ckj

(c) 24 ckj (d) 22 ckj

57. dkSuls o"kZ dk iapkx 2007 ds iapkx ds leku gksxk\
(a) 2013 (b) 2012
(c) 2017 (d) 2018

58. ;fn A cka;h vksj ls 15th LFkku rFkk B nk;h vksj ls

13th LFkku gS rFkk ;fn mu nksuksa ds eè; 12 O;fDr gks
rks] ml ifDr esa dqy O;fDr;ksa fd la[;k D;k gksxh\
(a) 14 (b) 40
(c) 12 (d) Kkr ugha dj ldrs

59. ;fn × = –,  = +, + = , rFkk – = × fuEu esa ls dkSulk
lehdj.k lgh gS \
(a) 3 – 5  6 × 8 + 2 = 19
(b) 4 – 5  7 × 16 + 2 = 19
(c) 18 + 6  10 × 1 – 2 = 17
(d) 20 × 16 + 2 – 3  4 = 2

60. dkSuls fpUgksa dh vnyk&cnyh lehdj.k dks lgh

cuk,xh \
8 × 6 + 2 = 22
(a) +, ×, 2 and 6 (b) +, ×, 6 and 8
(c) +, ×, 2 and 8 (d) +, ×, 2 and 22

funsZ'k : 61 ls 66
fuEufyf[kr iz'uksa esa fn, x, fodYiksa esa ls lacaf/kr 'kCn
@ v{kjksa @ la[;ka dks pqfu;sA
61. 2764 : 3763 :: ? : 5443

(a) 2536 (b) 2356
(c) 2563 (d) 5236

62. BVSC : YEHX :: MRCP : ?
(a) NJXK (b) LKXM
(c) NIXK (d) OIYM

63. EGIK : FILO :: FHJL : ?
(a) GJMP (b) GMJP
(c) JGMP (d) JGPM
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64. 7 : 56 :: 14 : ?
(a) 205 (b) 210
(c) 118 (d) 182

65. Peacock : India :: Bear : ?
(a) Australia (b) America
(c) Russia (d) England

66. Ornithologist : Birds : : Entomologist : ?
(a) Insects (b) Animals
(c) Plants (d) Viruses

Directions : 67 to 72
In each of the following questions. Select the
missing letter / word / number in the given series.
67. ACE, GIK, ? , SUW, YAC

(a) MPQ (b) MOQ
(c) MOP (d) MPR

68. 10, 100, 200, 310, ?
(a) 400 (b) 410
(c) 420 (d) 430

69. BE, IL, ?, WZ
(a) PS (b) CE
(c) LN (d) SU

70. 2, 0, 3, 1, ?, 2, 5, 3
(a) 4 (b) 3
(c) 2 (d) 1

71. DHK, GKN, JNQ, ?
(a) MRU (b) MQT
(c) LPS (d) NRU

72. 1, 5, 25, 125, ?, ?, ?
(a) 245, 485, 965
(b) 25, 325, 425
(c) 625, 3225, 15605
(d) 625, 3125, 15625

73. Which letter represents teachers who are women?

AK B

L M
TU

Teachers Men

Women
(a) B (b) AK
(c) L (d) TU

64. 7 : 56 :: 14 : ?
(a) 205 (b) 210
(c) 118 (d) 182

65. eksj : Hkkjr :: Hkkyw : ?

(a) vkLVªsfy;k (b) vesfjdk

(c) :l (d) bXyS.M

66. if{kfoKkuh : i{kh : : dhV foKkuh : ?

(a) dhM+s (b) i'kq

(c) ikS/ks (d) fo"kk.kq

funsZ'k : 67 ls 72
fuEufyf[kr iz'uk s a es a fn, x, Ü k a `[ ky k es a y q Ir
'kCn@v{kjksa@la[;ka dks pqfu;sA
67. ACE, GIK, ? , SUW, YAC

(a) MPQ (b) MOQ
(c) MOP (d) MPR

68. 10, 100, 200, 310, ?
(a) 400 (b) 410
(c) 420 (d) 430

69. BE, IL, ?, WZ
(a) PS (b) CE
(c) LN (d) SU

70. 2, 0, 3, 1, ?, 2, 5, 3
(a) 4 (b) 3
(c) 2 (d) 1

71. DHK, GKN, JNQ, ?
(a) MRU (b) MQT
(c) LPS (d) NRU

72. 1, 5, 25, 125, ?, ?, ?
(a) 245, 485, 965
(b) 25, 325, 425
(c) 625, 3225, 15605
(d) 625, 3125, 15625

73. dkSulk v{kj v/;kid dks n'kkZrk gS tks efgyk gS\

AK B

L M
TU

v/;kid iq:"k 

efgyk 
(a) B (b) AK
(c) L (d) TU
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74. A cube of 4 × 4 × 4 which all sides are coloured

in red are cut into smaller cubes of size 1 × 1
× 1. How many two sides red coloured cube
will be there ?

(a) 8 (b) 48

(c) 24 (d) 16

75. A and B start walking towards opposite end of
a 17 km long straight road at a speed of 5 km/
hr and 7 km/hr respectively How far minimum
apart can they be after one hour ?

(a) 18 (b) 11

(c) 12 (d) 10

76. Introducing a woman, A man said, “Her husband
is the only son of my mother’. How is the man
related to the woman ?

(a) Husband

(b) Sister

(c) Mother-in-law

(d) Maternal Aunt

77. From the given alternative words, select the word
which cannot be formed using the letters of the
given word

REHABILITATION

(a) ALIBI (b) BATTALION

(c) BILLION (d) BLATANT

78. If in a certain code language ‘SUMIT’ is written
as ‘IGOSH’. How would you code word
‘MOHAN’?

(a) AMJMO (b) AMJOM

(c) OTMBN (d) OMTAN

79. Four usual dice are thrown on the ground. The
total of number on the top faces of these four
dice is 13 as the top face showed 4, 3, 1 and 5
respectively. What is the total of the faces
touching the ground ?

(a) 12

(b) 13

(c) 15

(d) Cannot be determine

74. 4 × 4 × 4 dk ?ku ftlds lHkh fdukjs yky jax ls jaxs
gSA 1 × 1 × 1 fdukjs ls NksVs ?ku esa dkVk tkrk gSA nks

fdukjs yky jax ls jaxs gq, fdrus ?ku gksaxs\

(a) 8 (b) 48

(c) 24 (d) 16

75. A rFkk B Øe'k% 5 fdeh-@?kaVs vkSj 7 fdeh-@?kaVs dh

pky ls 17 fdeh- yEch lM+d ds foijhr Nksj dh vksj
pyuk izkjEHk djrs gSA ,d ?kaVs ckn os ,d nwljs ls de
ls de fdruh nwjh ij gks ldrs gS\

(a) 18 (b) 11

(c) 12 (d) 10

76. ,d efgyk dk ifjp; djkrs gq,] ,d vkneh us dgk]
^mldk ifr esjh ek¡ dk ,dykSrk iq= gSA* iq:"k] efgyk

ls dSls lacaf/kr gS \

(a) ifr

(b) cgu

(c) enj&bu&ykW

(d) ekeh

77. fuEufyf[kr fodYiksa esa ls og 'kCn pqfu,] tks fn,

x, 'kCn ds v{kjksa dk iz;ksx djds ugha cuk;k tk
ldrk\

REHABILITATION

(a) ALIBI (b) BATTALION

(c) BILLION (d) BLATANT

78. ;fn ,d dksM Hkk"kk esa 'SUMIT' dks 'IGOSH' fy[kk
tkrk gS] rks 'MOHAN' dks D;k fy[kk tk,xk\

(a) AMJMO (b) AMJOM

(c) OTMBN (d) OMTAN

79. pkj lkekU; ikls tehu ij Qsads tkrs gSaA bu pkjksa ikls
ds Åijh la[;kvksa dk dqy ;ksx 13 gS tks fd 4, 3, 1
,oa 5 dks n’kkZrs gS] rks tehu dks Nwus okyh Lrgksa dh
la[;kvksa dk ;ksx D;k gksxk\

(a) 12

(b) 13

(c) 15

(d) fu/kkZfjr ugha fd;k tk ldrk
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80. A child is looking for his father. He went 90
metres in the east before turning to his right. He
went 20 metres before turning to his right again
to look for his father at his uncle’s place 30
metres from his point. His father was not there.
From here he went 100 metres to his north before
meeting his father in a street. How far did the
son meet his father from the starting point ?
(a) 80 m (b) 100 m
(c) 260 m (d) 140 m

81. M, D, R, P and Q are all of different weight. R
is only lighter than M and P is lighter than Q and
D. Which of them is the second lightest ?
(a) Q (b) D
(c) Either Q or D (d) P

82. Which of the following diagrams indicates the
best relation between
Husband, Wife, Family

(a) (b)

(c) (d)

83. Arrange the following words or per order in the
dictionary.
1. Grasp 2. Granite
3. Grass 4. Graph
5. Grape
(a) 5, 1, 2, 3, 4 (b) 5, 1, 3, 2, 4
(c) 2, 5, 4, 1, 3 (d) 2, 5, 1, 4, 3

Direction : 84 to 89
Select the one which is different from other three
alternatives.
84. (a) ONMP (b) TUSQ

(c) RQPS (d) KJIL
85. (a) MIGE (b) XTQO

(c) RNKI (d) HDAY
86. (a) 15, 64 (b) 12, 72

(c) 14, 84 (d) 13, 78

80. ,d ckyd vius firk dks <wa< jgk gSA og 90 ehVj iwoZ
dks tkdj nk;sa ?kwerk gSA og 20 ehVj pydj fQj nk;sa

eqM+dj vius firk dks <wa<rk gqvk vius pkpk ds ?kj 30
ehVj pydj igqapkA mlds firk ogka ugha feysA ;gka

ls 100 ehVj nwj mÙkj fn'kk esa pydj mls mlds firk
,d xyh esa feysA vkjfEHkd LFkku ls fdruh nwjh ij

mls mlds firk feys \

(a) 80 ehVj (b) 100 ehVj

(c) 260 ehVj (d) 140 ehVj

81. M, D, R, P vkSj Q lHkh dk otu vyx&vyx gSA R
flQZ M ls gYdk gS rFkk P, Q vkSj D nksuksa ls gYdk

gSA buesa ls dkSulk nwljk lcls gYdk gS \

(a) Q (b) D

(c) ;k rks Q ;k D (d) P

82. fuEu esa ls dkSu&lk vkjs[k ifr] iRuh] ifjokj ds
e/; laca/k dks Js"B rjhds ls n'kk Zrk gS\

(a) (b)

(c) (d)

83. fuEufyf[kr 'kCnksa dks 'kCndks"k esa fn, x, Øe ds
vuqlkj fy[ks

1. Grasp 2. Granite
3. Grass 4. Graph
5. Grape
(a) 5, 1, 2, 3, 4 (b) 5, 1, 3, 2, 4
(c) 2, 5, 4, 1, 3 (d) 2, 5, 1, 4, 3

funsZ'k : 84 ls 89

mls pqfu, tks vU; rhuksa fodYiksa ls fHkUu gSA

84. (a) ONMP (b) TUSQ
(c) RQPS (d) KJIL

85. (a) MIGE (b) XTQO
(c) RNKI (d) HDAY

86. (a) 15, 64 (b) 12, 72
(c) 14, 84 (d) 13, 78
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87. (a) India (b) Pakistan

(c) China (d) Asia
88. (a) 1089 (b) 529

(c) 961 (d) 1681
89. (a) 2, 3, 5, 8 (b) 4, 5, 7, 10

(c) 7, 8, 9, 11 (d) 10, 11, 13, 16
90. In a certain code, TRIPLE is written as

SQHOKD. How is DISPOSE written in that
code ?
(a) CHRONRD (b) DSOESPI
(c) ESJTPTF (d) ESOPSID

91. Arrange the following words in meaningful order.
1. Bus
2. Bullock Cart
3. Aeroplane
4. Horse
5. Rocket
(a) 4, 2, 1, 3, 5 (b) 3, 4, 1, 2, 5
(c) 2, 4, 1, 3, 5 (d) 1, 4, 2, 3, 5

92. Statement: All ties are shirts.
Some pants are shirts.

Conclusions: I. Some pants are ties.
II. No ties are pants.

(a) If only I follows
(b) If only II follows
(c) If either I or II follows
(d) If neither I nor II follows

93. If ROAD = 152 and MAP = 90,
then RAIL = ?
(a) 120 (b) 140
(c) 160 (d) 180

94. In a certain code, NUMERICAL is written as
LMUIREACN. How is PUBLISHED written
in that code ?
(a) DUBLISHEP (b) DBULISEHP
(c) DBUSILHEP (d) DBUSILEHP

95. If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

87. (a) Hkkjr (b) ikfdLrku

(c) phu (d) ,f'k;k

88. (a) 1089 (b) 529
(c) 961 (d) 1681

89. (a) 2, 3, 5, 8 (b) 4, 5, 7, 10
(c) 7, 8, 9, 11 (d) 10, 11, 13, 16

90. ,d dwV Hkk"kk esa] TRIPLE dks SQHOKD fy[kk

tkrk gSA ml dwV Hkk"kk esa DISPOSE dks fdl izdkj
fy[kk tk,xk \

(a) CHRONRD (b) DSOESPI
(c) ESJTPTF (d) ESOPSID

91. fuEufyf[kr 'kCnksa dks lkFkZd Øe esa fyf[k,&

1. cl

2. cSyxkM+h

3. gokbZtgkt

4. ?kksM+k

5. jksdsV

(a) 4, 2, 1, 3, 5 (b) 3, 4, 1, 2, 5
(c) 2, 4, 1, 3, 5 (d) 1, 4, 2, 3, 5

92. dFku: lHkh VkbZ 'kVZ gSA

dqN isaV 'kVZ gSA

fu"d"k Z: I. dqN isaV VkbZ gSA

II. dksbZ VkbZ isUV ugha gSA

(a) ;fn dsoy I vuqlj.k djrk gSA

(b) ;fn dsoy II vuqlj.k djrk gSA

(c) ;fn I ;k II vuqlj.k djrs gSA

(d) ;fn u rks I u gh II vuqlj.k djrs gSA

93. ;fn ROAD = 152 ,oa MAP = 90 gks,

rks RAIL = ?
(a) 120 (b) 140
(c) 160 (d) 180

94. ,d dwV Hkk"kk esa] NUMERICAL dks LMUIREACN
fy[kk tkrk gSA ml dwV Hkk"kk esa PUBLISHED dks

fdl izdkj fy[kk tk,xk \

(a) CHRONRD (b) DSOESPI
(c) ESJTPTF (d) ESOPSID

95. ;fn ,d niZ.k dks MN js[kk ij j[kk tk;s rks nh xbZ
mÙkj vkd̀fr dh lgh izfrfcEc gksxh\
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Question figure:

N

M

Answer figures:

(a) (b)

(c) (d)

96. Select the answer figure in which the question
figure is hidden/embedded.
Question Figure :

Answer Figures :

(a) (b)

(c) (d)

97. Which answer figure will complete the pattern
in the question figure?
Question figure :

Answer figures :

(a) (b)

(c) (d)

iz'Uk vkdf̀r %

N

M

mÙkj vkdf̀r;k¡ %

(a) (b)

(c) (d)

96. nh xbZ mÙkj vkd̀fr;ksa esa ls ml mÙkj vkd̀fr dks
pqfu, ftlesa iz'u vkd̀fr fufgr gSA

iz'u vkdf̀r %

mÙkj vkdf̀r;k¡ %

(a) (b)

(c) (d)

97. dkSu lh mÙkj vkd̀fr iz'u vkd̀fr ds izfr:i dks iwjk

djsxh \

iz'u vkdf̀r %

mÙkj vkdf̀r;k¡ %

(a) (b)

(c) (d)
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98. A piece of paper is folded and cut as shown

below in the question figures. From the given
answer figures, indicate how it will appear when
opened.
Questions figures:

oo

Answer Figures:

(a)
oo

oo (b)
o

o

o

o

(c)
oo

oo

o o

(d)
oo

oo

o o

o o

99. Find the number of triangles in the given figure?

(a) 16 (b) 18
(c) 19 (d) 21

100. A word is represented by only one set of numbers
are given in any one of the alternatives. The
sets of numbers given in the alternatives are
represented by two classes of alphabets as in
two matrices given below. The columns and rows
of Matrix I are numbered from 0 to 4 and that
of Matrix II are numbered from 5 to 9. A letter
from these matrices can be represented first by
its row and next by its column, e.g., 'F' can be
represented by 02, 33 etc., and 'P' can be
represented by 56, 88 etc. Similarly, you have to
identify the set for the word 'POSE'.

         Matrix-I         Matrix-II

0 1 2 3 4
0 D E F I N
1 I N D E F
2 E F I N D
3 N D E F I
4 F I N D E

 

5 6 7 8 9
5 O P R S T
6 S T O P R
7 P R S T O
8 T O P R S
9 R S T O P

(a) 87, 55, 89, 43 (b) 68, 98, 58, 21

(c) 75, 86, 67, 14 (d) 56, 67, 77, 01

98. uhps iz'u vkd̀fr;ksas esa fn[kk, vuqlkj dkxt dks
eksM+dj dkVus rFkk [kksyus ds ckn og fdl mÙkj

vkd̀fr tSlk fn[kkbZ nsxk\

iz'u vkdf̀r;k¡ :

oo

mÙkj vkd̀fr;k¡ :

(a)
oo

oo (b)
o

o

o

o

(c)
oo

oo

o o

(d)
oo

oo

o o

o o

99. fuEu vkd̀fr esa f=Hkqtksa dh la[;k Kkr dhft,&

(a) 16 (b) 18
(c) 19 (d) 21

100. ,d 'kCn dsoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS]
tSlk fd fodYiksa esa ls fdlh ,d esa fn;k x;kgSA

fodYiksa esa fn, x, la[;k&lewg v{kjksa ds nks oxks± }kjk
n'kkZ, x, gSa] tSlk fd uhps fn, x, nks vkO;wgksa esa gSA
vkO;wg-1 ds LrEHkksa vkSj iafDr dh la[;k 0 ls 4 esa nh
xbZ gS vkSj vkO;wg-2 dh 5 ls 9A bu vkO;wgksa ls ,d
v{kj dks igys ml dh iafDr vksj ckn esa LrEHk la[;k }kjk

n'kkZ;k tk ldrk gSA mnkgj.k ds fy, 'F' dks 02, 33
vkfn }kjk n'kkZ;k tk ldrk gS rFkk 'P' dks 56, 88
vkfn }kjk n'kkZ;k tk ldrk gSA blh rjg ls vkidks
iz'u esa fn, 'kCn 'POSE' ds fy, lewg dks igpkuuk gSA

         Matrix-I           Matrix-II

0 1 2 3 4
0 D E F I N
1 I N D E F
2 E F I N D
3 N D E F I
4 F I N D E

 

5 6 7 8 9
5 O P R S T
6 S T O P R
7 P R S T O
8 T O P R S
9 R S T O P

(a) 87, 55, 89, 43 (b) 68, 98, 58, 21
(c) 75, 86, 67, 14 (d) 56, 67, 77, 01
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101. In case of an 8-pole induction motor, the supply
frequency was 50 Hz and the shaft speed
was 735 rpm. The percentage slip is

(a) 2 (b) 2.04

(c) 1.98 (d) 3

102. Lap winding is suitable for ______ current
______ voltage d.c. generators.

(a) High, Low (b) Low, High

(c) Low, Low (d) High, High

103. For synchronous machine, which of the following
loads, armature reaction is magnetizing in nature?

(a) Pure resistive load

(b) Pure inductive load

(c) Pure capacitive load

(d) None of the above

104. Load saturation characteristic of a d.c. generator
gives relation between

(a) V and Ia

(b) E and Ia

(c) E0 and If

(d) V and If

105. At lagging loads, armature reaction in an
alternator is

(a) Cross magnetizing

(b) Non-effective

(c) Demagnetizing

(d) Magnetizing

106. A 3-phase, 2-pole, 12-slot synchronous machine
is operating at synchronous speed. Find the slot
angle?

(a) 20° (b) 30°

(c) 18° (d) 60°

107. The breakdown torque of a synchronous motor
with applied voltage V varies as

(a) V (b)
1
V

(c) V2 (d) 2
1

V

108. If the percentage impedances of the two
transformers working in parallel are different, then
(a) Transformer will be overheated
(b) Power factors of both the transformers will

be same
(c) Parallel operation will be not possible
(d) Parallel operation will still be possible, but

the power factors at which the two
transformers operate will be different from
the power factor of the common load

109. The transformer laminations are insulated from
each other by :
(a) Mica strip
(b) Thin coat of Varnish
(c) Paper
(d) Any of the above

110. In a 200 kVA transformer iron loss and full load
copper loses are 2 kW and 4 kW. The maximum
efficiency occurs at a load of :
(a) 100 kVA (b) 200 kVA
(c) 141.4 kVA (d) 282.8 kVA

111. If the impedance triangles of two transformers
operating in parallel are not identical in shape
and size, the two transformers will
(a) share the load unequally
(b) get heated unequally
(c) have a circulatory secondary current even

when loaded
(d) run with different power factors

112. The equivalent resistance of the primary of a
transformer having K = 5 and R1 = 0.1 ohm
when referred to secondary becomes _____ohm.
(a) 0.5 (b) 0.02
(c) 0.004 (d) 2.5

113. The input to a 3-phase induction motor, is 65 kW
and the stator loss is 1 kW. The total mechanical
power developed is approximately, if the slip is
3%.
(a) 62.8 kW (b) 63 kW
(c) 60.8 kW (d) 62 kW
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114. In a 3- induction motor, the rotor field rotates

at synchronous speed with respect to
(a) Stator
(b) Rotor
(c) Stator flux
(d) None of the above

115. The power factor of a squirrel cage induction motor
is
(a) Low at light loads only
(b) Low at heavy loads only
(c) Low at light and heavy loads both
(d) Low at rated load only

116. A 4 pole, lap wound, d.c. shunt generator has a
useful flux per pole of 0.07 Wb. The armature
winding consists of 220 turns each of 0.004 
resistance. Calculate the terminal voltage when
running at 900 rpm. If the armature current is
50A.
(a) 459.25 Volt (b) 451 Volt
(c) 462 Volt (d) 475 Volt

117. The critical resistance of the dc generator is the
resistance of
(a) armature (b) field
(c) load (d) brushes

118. If the applied voltage to a D.C. machine is 230V,
then the back e.m.f. for maximum power
developed is
(a) 115 V (b) 200 V
(c) 230 V (d) 460 V

119. The type of D.C. generator used for arc welding
purposes is a
(a) series generator
(b) shunt generator
(c) cumulatively compounded generator
(d) differentially compounded generator

120. Which of the following property is not necessarily
desirable in the material for transformer core?
(a) Mechanical strength
(b) Low hysteresis loss
(c) High thermal conductivity
(d) High permeability

121. In case a synchronous motor starts but fails to
develop full torque, the probable cause could be
(a) Low excited voltage
(b) Reverse field winding
(c) Open or short circuit
(d) Any of the above

122. In the transformer winding has got more cross-
sectional area :
(a) Low voltage winding
(b) High voltage winding
(b) Primary winding
(d) Secondary winding

123. Which of the following rotor quantity in a SCIM
does not depends on its slip?
(a) Reactance (b) Speed
(c) Induced emf (d) Frequency

124. Two parallel shunt generators will divide the total
load equally in proportion to their kilowatt output
ratings only when they have the same.
(a) rated voltage
(b) voltage regulation
(c) internal IaRa drops
(d) both (a) and (b)

125. The starting winding of a single phase motor is
placed in the
(a) Rotor (b) Stator
(c) Armature (d) Field

126. Load factor for the load curve in given figure is

100

60
40

40% 70%
100%

Time

(a) 100% (b) 70%
(c) 60% (d) 50%
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127. For a load flow solution the quantities normally
specified at a voltage controlled bus are
(a) P and Q (b) P and |V|
(c) Q and |V| (d) P and 

128. A reactance relay is
(a) Voltage restrained directional relay
(b) Directional restrained over current relay
(c) Voltage restrained over current relay
(d) None of above

129. The shape of disc on in induction disc relay is
(a) circular (b) spiral
(c) Electric (d) rectangular

130. Reactance relay is normally preferred for
protection against
(a) Earth faults only
(b) Phase faults only
(c) L-L fault only
(d) None of above

131. The positive, negative and zero sequence
impedances of a solidly grounded system under
steady state condition always follows the
relations
(a) Z1 > Z2 > Z0 (b) Z1 < Z2 < Z0

(c) Z0 < Z2 < Z2 (d) Z1 = Z2 = Z3

132. A 3-phase breaker is rated at 2000 MVA, 33 kv
its making current will be
(a) 35 kA (b) 49 kA
(c) 70 kA (d) 89 kA

133. Stringing chart is useful for
(a) finding the sag in the conductor
(b) In the design of tower
(c) In the design of insulator string
(d) Finding the distance between the tower

134. The inertia constant power factor of a machine
of 200 MVA is 2 p.u. its value corresponding to
400 MVA will be?
(a) 4.0 (b) 2.0
(c) 1.0 (d) 0.5

135. The steady state stability limit can be increased by
(a) increasing the excitation of the motor or

generator
(b) reducing the reactance
(c) by using series capacitance
(d) All of the above

136. Which of the curve shown in the figure represents
the relation between capital cost and the
transmission voltage

III I
II

IV

Transmission Voltage
C

ap
ita

l c
os

t (
in

 R
s)

(a) Curve I (b) Curve-II
(c) Curve III (d) Curve-IV

137. In overhead lines we generally use
(a) copper conductors
(b) all aluminum conductors
(c) ACSR conductor
(d) None of the above

138. The equivalent capacitor arrangement of a two
string insulator is shown in the figure. The
maximum voltage that each unit can with stand
should not exceed 17.5 kV. the line voltage of
the complete string is

C

C'=1
8 C

C

Line

(a) 17.5 kV (b) 33 kV
(c) 35 kV (d) 37.3 kV
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139. The use of a guard ring

(a) Equalises the voltage division between
insulators discs

(b) is unnecessary complication
(c) decreasing string efficiency
(d) None of the above

140. For a distortion less transmission line
(a) RL = GC (b) RC = LG
(c) RG = LC (d) LGRC = 0

141. In the loop tests performed for localizing the
earth fault in cables the fault resistance
(a) affects the balance conditions
(b) affects the sensitivity of the bridge
(c) affects the value of cable resistance
(d) all of the above

142. The highest transmission voltage in India is
(a) 765 kV (b) 400 kV
(c) 220 kV (d) 132 kV

143. For a synchronous phase modifier the load angle
is
(a) 0° (b) 25°
(c) 30° (d) None of the above

144. If a current flows in a circuit, the number of
electrons flowing through this circuit is
(a) 0.625×1019 (b) 1.6×1019

(c) 1.6×10–19 (d) 0.625×10–19

145. The resistivity of the conductor depends on
(a) Area of conductor
(b) length of conductor
(c) Type of material
(d) None of these

146. How many coulombs of charge flow through a
circuit carrying a current of 10A in 1 minute?
(a) 10 (b) 60
(c) 600 (d) 1200

147. Common impurity in battery electrolyte is
(a) Sodium chloride (b) Iron
(c) Lead sulfate (d) Dust

148. In two wattmeter method of power measurement
if the total power is measured by one wattmeter
only then power factor of the system
(a) 1 (b) 0.5
(c) 0 (d) None of these

149. Deflection method direct measurement are most
widely used
(a) Most simple and least time consuming
(b) Least time Consuming
(c) Most simple
(d) Most accurate

150. The measured value of a resistance is 10.25.
Where as its value of 10.22. What is absolute
error of the measurement.
(a) 0.01 (b) 0.03
(c) 15.36 (d) 10.26

151. A pressure measurement instrument is calibrated
between 10 bar and 260 bar. The scale span of
the instrument is
(a) 10 bar (b) 250 bar
(c) 260 bar (d) 270 bar

152. An analog ammeter is
(a) Recording instrument
(b) Controlling instrument
(c) Absolute instrument
(d) Indicating instrument

153. Hay's bridge is suitable for the measurement of
(a) inductance with Q > 10
(b) Inductance with Q < 10
(c) Capacitor with high dissipation factor
(d) Capacitors with low dissipation factor

154. ________ factor is the ratio of total flux to the
useful flux in a magnetic circuit.
(a) Form factor (b) Leakage
(c) Utility (d) Dispersion

155. Hysteresis of an instrument means
(a) The change in the same reading when input

is first increased and then decreased
(b) The reliability of the instrument
(c) The repeatability of the instrument
(d) The inaccuracy due to change in temperature.
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156. The power measurement in a balance 3–phase
circuit can be done by
(a) One wattmeter method
(b) Two wattmeter method
(c) Three wattmeter method
(d) Any of the above method

157. The permissible variation of frequency in power
system is
(a) ± 1% (b)  ± 3%
(c) ± 5% (d) None of these

158. B–H curve is used to determination of
(a) Hysteresis loss (b) Iron loss
(c) Eddy current loss (d) Both (a) & (b)

159. Preferred material for permanent magnet is
(a) Stainless steel (b) Alnico
(c) Tungsten steel (d) soft iron

160. Moving iron and PMMC instruments can be
distinguished from each other by looking at
(a) Pointer (b) Terminal size
(c) Scale (d) Scale range

161. A ballistic galvanometer is used to measure
(a) Charge (b) Current
(c) Voltage (d) Frequency

162. N-channel JFET has IDSS = 8mA and VP= –5V.
Determine the minimum value of VDS for pinch off
region and drain current IDS, for Vgs = –2 V in
pinch off region.
(a) 2 mA, 3 V (b) 3V, 2.88 mA
(c) 3 mV, 2.88 mA (d) 3V, 2.88 A

163. The output impedance of FET is
(a) high (b) low
(c) zero (d) infinite

164. The voltage gain of common base emitter is
(a) very high (b) nearly unity
(c) high (d) low

165. The common base configuration is generally used
for
(a) high frequency circuits
(b) audio frequency circuits
(c) low frequency circuits
(d) impedence matching

166. Determine the base, collector current for a CE
circuit shown in the following figure.

for VCC = 10V

VBB = 4V

VBE(ON) = 0.7V

= 200

V = 4VBB IB

RB =200 K

IC

RC=2 K


V =10VCC

(a) 16.5 A, 3.3 mA

(b) 16A, 3 mA

(c) 3.3 mA, 16.5 A

(d) 3 mA, 16 A

167. A 1-phase full wave rectifier uses two diodes
whose internal resistance are 600  each.
Secondary end voltage is 300V and load
resistance is 1000  then dc power output is

(a) 25 mW (b) 30 W

(c) 26.582 mW (d) 28.4826 W

168. The voltage across a silicon diode at room
temperature (300K) is 0.7 volts when 2mA
current flows through it. If the voltage increases
to 0.75 V, calculate the diode current (assume
VT =26 mV)

(a) 5A (b) 5.23 mA

(c) 5.23 A (d) 5.05 mA

169. The drain resistance of P-channel MOSFET is

(a) Higher than that for an identical N-channel
MOSFET

(b) Lower than that for an identical N-channel
MOSFET

(c) Equal to that of an identical N-channel
MOSFET

(d) Both (a) & (b) be possible
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170. For the circuit given below the output waveform

VO

10VV
=1

2 
si

n
t

S


Fig (a)

(a) t

VS

12V
10V

12sin t

(b) t

VS

12V 12sin t

10V

(c) t

VS

12V
10V

(d) None of these
171. Breakdown mechanism on diode

(a) Causes destruction
(b) Causes No destruction
(c) Desirable
(d) None of these.

172. The string efficiency of a string of suspension
insulators is dependent on
(a) Size of the insulators
(b) Number of discs in the string
(c) Size of tower
(d) None of the above

173. In a piecewise linear diode model the diode
resistance is
(a) low for all biases
(b) high for all biases
(c) low for biases greater than V and high for

biases less than V
(d) high for biases greater than V and low for

biases less than V
174. With a capacitor connected across the output,

the ripple in half wave rectifier is .................
the ripple in a full wave rectifier
(a) greater than (b) less than
(c) equal to (d) exactly half

175. In the common emitter configuration, if the
transistor is in active region, then
(a) IC= IE (b) IE= IB

(c) IB= IC (d) IC= IB

176. The number of 2F, 400 V capacitors needed
to obtain a capacitance value of 1.5 F rated
for 1600 V is
(a) 12 (b) 8
(c) 6 (d) 4

177. The value of resistance ‘R’ shown in the figure is

7  R50V

4A
+
–

6 

(a) 3.5  (b) 205 
(c) 1  (d) 405 

178. In the circuit shown below, the maximum power
absorbed by the load resistance RL is

6  RL18V

12 

(a) 1.5 W (b) 2.25 W
(c) 2.5 W (d) 5 W
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179. The number of turns of a coil having a time constant
T are doubled. Then the new time constant will be

(a) T (b) 2T

(c) 4T (d) T/2

180. While calculating Rth, constant current sources
in the circuit are?

(a) replaced by open circuit

(b) replaced by short circuit

(c) treated in parallel with other voltage sources

(d) converted into equivalent voltage source

181. In a 3  balanced star connected load, neutral
current is equal to

(a) Primary current (b) Load current

(c) zero (d) unpredictable 

182. For the circuit shown in figure, the power
delivered by the 2 Volt source is given by

1A

3 

± 1 2V

(a) 4 W (b) 2 W

(c) –2W (d) –4 W

183. Two coupled coils with L1= L2 = 0.6H have a
coupling cofficients of k = 0.8. The turns ratio

1

2

N
N is

(a) 4 (b) 2

(c) 1 (d) 0.5

184. In the circuit shown in the figure, the voltage
across the 2 ohm resistor is

3V±

2 

3 1 

4 

6 A

(a) 6V (b) 4V

(c) 2V (d) zero

185. A lossy capacitor is represented by an ideal
capacitor C with a high resistance R in parallel.
What is the Q of the circuit at frequency ?
(a) CR

(b)
1
CR

(c)
C

R


(d)
R

C

186. Four resistance 8  50 25 and R are
connected in parallel. Current through 25
resistance is 4A. Total current of the supply is
10A. The value of R will be?
(a) 66.66  (b) 40.25 
(c) 36.36  (d) 76.56 

187. The thevenin’s equivalent resistance Rth for the
given network is

Rth

2 

2 

+

–

1 A

1 V

(a) 1  (b) 2 
(c) 4  (d) infinity

188. A 3-phase delta connected symmetrical load
consumes P watt of power from a balanced
supply. If the same load is connected in star to
the same supply, then what is the power
consumption?
(a) P/3 (b) P
(c) 3 P (d) 3P

189. Superposition theorem is not applicable to
(a) Voltage calculations
(b) Power calculations
(c) bilateral elements
(d) Passive elements
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190. In the circuit shown the value of I is

28 

5 A4 10 A

I

8 

(a) 1 A (b) 2 A
(c) 4 A (d) 8 A

191. The equivalent capacitance across ab will be

0.1 F

0.1 F0.1 F

0.1 F

0.1 F
a c

d b

(a) 0.2 F (b) 0.1 F
(c) 0.5 F (d) 0 F

192. What happens to the resistance of a conductor
if its length is increased three times and diameter
is halved?
(a) Resistance remains the same
(b) Resistance increased 3 times
(c) Resistance is increased 6 times
(d) Resistance is increased 12 times

193. The Norton’s equivalent of circuit shown in figure
I is drawn in the circuit shown in figure II. The
values of Isc and Req in figure II are respectively

1

2

±

4/5 3 

2 2 V

Figure (I)

1

2

ReqIsc

Figure (II)

(a)
5
2

A and 2 

(b)
2
5

A and 1 

(c)
4
5

 A and 
12
5


(d)
2
5

A and 2 

194. A voltage source having an internal impedance
of (8 + j6) ohms supplies power to a resistive
load. What should be the load resistance for
maximum power transferred to it?

(a) 8 ohms (b) 6 ohms

(c) 10 ohms (d) 10 ohms

195. The current in a coil changes from 5A to 1A in
0.4 seconds. The induced voltage is 40 V. The
self inductance in henry is

(a) 1 (b) 2

(c) 4 (d) 10
196. The equivalent inductance of the below given

circuit at the terminals P – Q is

4 H 2 H

2 H
P

Q

(a) 4H (b) 2H
(c) 6H (d) 8H

197. Admittance is the reciprocal of
(a) impedance (b) inductance
(c) susceptance (d) reactance

198. In A.C. circuit, if active power is 3 kW and
reactive power is 4 kVAR then power factor of
the circuit is
(a) 0.6 (b) 0.8
(c) 0.2 (d) 0.3
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199. The time constant for the given circuit is

3 A3

31F

1F1F

(a)
1
9

S (b)
1
4

Sec

(c) 4Sec (d) 9 Sec

200. A current i(t) = sin 2 t is applied to a capacitance

of C = 1F. Find c
1v (t) at t sec.
4



(a) 15.9 × 102 (b) 18.9 × 104

(c) 15.9 × 104 (d) 14 × 104


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1. Ans. (a)

2. Ans. (a)

3. Ans. (b)

4. Ans. (b)

5. Ans. (c)

6. Ans. (a)

7. Ans. (d)

8. Ans. (b)

9. Ans. (c)

10. Ans. (b)

51. Ans. (b)
8 × 6 + 3 = 51
9 × 4 + 5= 41
Similarly,

7x + 2 = 37
7x = 35
x = 5

52. Ans. (b)

25 + 20 = 45
3  = 15

20 + 7 = 27
3  = 9

7 + 29 = 36
3  = 12

Similarly,

29 + 25 = 54
3 = 18

53. Ans. (b)
Ram Sohan Ram

Initial
9th

7th 4th

54. Ans. (b)
Ali = 42

Son = 10
So after 22 years

Ali = 42 + 22 = 64
And his Son

= 10 + 22 = 32
Which is twice the age of his son.

11. Ans. (b)

12. Ans. (c)

13. Ans. (d)

14. Ans. (c)

15. Ans. (a)

16. Ans. (d)

17. Ans. (c)

18. Ans. (c)

19. Ans. (c)

20. Ans. (a)

21. Ans. (a)

22. Ans. (d)

23. Ans. (d)

24. Ans. (a)

25. Ans. (a)

26. Ans. (c)

27. Ans. (a)

28. Ans. (b)

29. Ans. (b)

30. Ans. (d)

31. Ans. (b)

32. Ans. (b)

33. Ans. (d)

34. Ans. (a)

35. Ans. (c)

36. Ans. (d)

37. Ans. (b)

38. Ans. (a)

39. Ans. (c)

40. Ans. (c)

41. Ans. (b)

42. Ans. (a)

43. Ans. (c)

44. Ans. (c)

45. Ans. (d)

46. Ans. (d)

47. Ans. (d)

48. Ans. (a)

49. Ans. (d)

50. Ans. (b)

55. Ans. (a)
56. Ans. (d)
57. Ans. (d)
58. Ans. (d)
59. Ans. (b)
60. Ans. (b)
61. Ans. (a)
62. Ans. (c)
63. Ans. (a)
64. Ans. (b)

7 × 7 + 7 = 56
Similarly

14 × 14 + 14
 196 + 14 = 210

65. Ans. (c)
Peacock is national bird of India.
Similary bear is the national animal of Russia.

66. Ans. (a)
67. Ans. (b)
68. Ans. (d)

10 100 200 310 ?

90 100 110 120

430

So, 310 + 120 = 430
69. Ans. (a)

ANSWERS AND EXPLANATIONS
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70. Ans. (a)
2 – 2 = 0
0 + 3 = 3
3 – 2 = 1
1 + 3 = 4

71. Ans. (b)
72. Ans. (d)

1 × 5 = 5
5 × 5 = 25

25 × 5 = 125
625 × 5 = 3125

3125 × 5 = 15625
73. Ans. (c)
74. Ans. (c)

Here N = 4
Total No. of two side red colour cubes

= 12 × (N – 2) = 24
75. Ans. (c)
76. Ans. (a)
77. Ans. (c)
78. Ans. (d)
79. Ans. (c)
80. Ans. (b)
81. Ans. (c)

M R Q/D D/Q P> > > >
So, second lightest among them is
Either 'Q' or 'D'

82. Ans. (d)
83. Ans. (c)
84. Ans. (b)
85. Ans. (a)
86. Ans. (a)
87. Ans. (d)
88. Ans. (a)

Except all are the square of prime numbers.
(23)2 = 529
(29)2 = 961
(41)2 = 1681
(33)2 = 1089

89. Ans. (c)
Second number is one more than first. Third
number is two more than second. And Fourth
number is three more than third.

90. Ans. (a)
T  R  I  P  L  E

S  Q  H  O  K  D
–1 –1 –1 –1 –1 –1

Similarly,
D  I  S  P  O  S  E

C  H  R  O  N  R  D
–1 –1 –1 –1 –1 –1 –1

91. Ans. (c)
92. Ans. (c)

Ties

Shirt

Pant

Conclusion :
Either I or II follows

I. (–) Uncertain
II. (–)Uncertain

93. Ans. (c)
ROAD = 18 + 15 + 1 + 4

= 38 × 4 = 152
and MAP = 13 + 1 + 16

= 30 × 3 = 90
Similarly,

RAIL = 18 + 1 + 9 + 12
= 40 × 4 (No. of letters)
= 160

94. Ans. (d)
Given, N U M E R I C A L

L M U I R E A C N
Similarly, P U B L I S H E D

D B U S I L E H P
95. Ans. (d)
96. Ans. (d)
97. Ans. (b)
98. Ans. (a)
99. Ans. (d)
100. Ans. (d)
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101. Ans.(a)

102. Ans.(a)

103. Ans.(c)

104. Ans.(d)

105. Ans.(d)

106. Ans.(b)

107. Ans.(a)

108. Ans.(d)

109. Ans.(b)

110. Ans.(c)

111. Ans.(d)

112. Ans.(d)

113. Ans.(d)

114. Ans.(a)

115. Ans.(a)

116. Ans.(a)

117. Ans.(b)

118. Ans.(a)

119. Ans.(d)

120. Ans.(c)

121. Ans.(d)

122. Ans.(b)

145. Ans. (c)
The resistivity is a property of material, defined
as the resistance between the two opposite faces
of a cube of material of unit volume. That is why
resistivity is only the property of materials.

146. Ans. (c)
1 A current means flowing of IC charge per
second.
 10 A current in 1 minute or 60 seconds
       10×60 = 600 coulombs

147. Ans. (b)
148. Ans. (b)

1 2

1 2

P -Ptan 3
P +P

  

ocos power factor = cos 60 0.5  

149. Ans. (b)
150. Ans. (b)

Measured value – True value
10.25 – 10.22 = 0.03

151. Ans. (b)
Difference between upper range and lower range
260 – 10 = 250 bar

152. Ans. (d)

153. Ans. (a)

154. Ans. (b)

155. Ans. (a)

156. Ans. (d)

157. Ans. (b)

158. Ans. (a)

159. Ans. (b)

160. Ans. (c)

161. Ans. (a)

162. Ans (b)

VDS min = Vgs – Vp = –2–(–5) = 3V

IDS = 

2
gs

DSS
p

V
I 1

V
 
 

  
= 8 × 10–3[1–(–2)/(–5)]2

= 2.88 mA

123. Ans.(b)

124. Ans.(d)

125. Ans.(b)

126. Ans.(b)

127. Ans.(b)

128. Ans.(b)

129. Ans.(b)

130. Ans.(a)

131. Ans.(a)

132. Ans.(d)

133. Ans.(a)

134. Ans.(c)

135. Ans.(d)

136. Ans.(a)

137. Ans.(c)

138. Ans.(b)

139. Ans.(a)

140. Ans.(b)

141. Ans.(b)

142. Ans.(a)

143. Ans.(a)

144. Ans. (c)
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163. Ans (b)

164. Ans (c)

165. Ans (a)

166. Ans (a)

IB = 
BB BE

B

V V (on)
R


= 3
4 0.7 16.5 µA

200 10
 




IC = IB = 200×16.5×10–6

= 3.3 mA

167. Ans (d)

Im = m

P L

V 300 2
r R 600 1000


 

= 
300 2 0.2651 A
1600

 

D.C. power output = 2
dc LI R

= 
2

m
L

2I R
π

   
 

= 
22 0.2651 1000

π
   

 
= 28.4826 W

168. Ans (b)

Room temperature  = 300 K

Voltage across a silicon diode,

VD1 = 0.7V,   ID1 = 2 mA

When voltage increase to 0.75 V, VD2 then

D2

D1

I
I = 

D2 T

D1 T

V /V
0

V /V
0

I (e 1)
I (e 1)







= 
3

3

0.75/26 10

0.7/26 10

e 2 1 2.615
e 2 1









 


 
ID2 = 2.615 × ID1 = 2.615×2×10–3

= 5.23 mA.
169. Ans (a)
170. Ans (a)

171. Ans (a)

172. Ans (b)

173. Ans (c)

174. Ans (a)

175. Ans (d)

176. Ans. (a)

177. Ans. (a)

178. Ans. (b)

179. Ans. (b)

180. Ans. (a)

181. Ans. (c)

182. Ans. (b)

183. Ans. (c)

184. Ans. (c)

185. Ans. (a)

186. Ans. (c)

187. Ans. (b)

188. Ans. (b)

189. Ans. (b)

190. Ans. (b)

191. Ans. (b)

192. Ans. (d)

193. Ans. (d)
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194. Ans. (c)

195. Ans. (c)

196. Ans. (b)
Leq = (2 + 2)||4

= 2 H
197. Ans. (a)

Y = 
1
Z

198. Ans. (a)

S = 2 2P Q

= 2 23 4 5 

cos  = 
P 3 0.6
S 5
 

199. Ans. (c)
Replace current source with voltage source

1F

1F 1F

3 3

9V

Time constant
 = RC

 (3 + 3) × [(1 + 1)||1]

= 
26
3



                   4sec 

200. Ans. (c)

vc(t) = 
0

t

t

1 idt
C 

= 
1/4

6
0

1 sin 2 t
10



=  1/4
6 0

1 cos 2 t
2 10

 


= 15.9 × 104 volts

 c
1v sec
4

 
 
 

 = 15.9 × 104 volts.




